= ([
N & 0l & AF S Z M A
201MEE £ 2 5 LSt JIEISHESH HACNLASET ~ SBIHLAEE

SN SBONZAIE S
B A0 HREY

Sl HA BT (el @8

SN -BH - S(B) - MRAY - BES Off &F o4 Pl HRE2

FRS=BIENEE 1,320,355 1,280,355 40,000

= 300, 126 300, 126 0

= 1,020,229 980,229 40,000

48l RHexA 732,252 692,252 40,000

= 300, 126 300, 126 0

= 432,126 392,126 40,000

M BB 522,921 482,921 40,000

= 256,126 256,126 0

= 266,795 226,79 40,000

A2 202,395 62,395 40,000

201 Lt ot] 89,320 149,320 40,000

02 222 189,320 149,320 40,000

oZMNEY BERI 89,320 149,320 40,000




